PAGE

DP NUM 13130 BIDDER 03955

GENERATED 05-21-13 REVISED 06-10-13

Route 35, Restoration, Berkeley Twp. To Toms River Twp. (MP 0-4) Sandy Restoration Contract No. 000950319 Grading, Paving, Drainage, and Sign Structures Berkeley Township, Seaside Park Borough, Seaside Heights Borough and Toms River Township Ocean County

FOR WHICH BIDS WERE ADVERTISED TO BE RECEIVED ON 06-13-13

AT 10:00 A.M.

TO THE COMISSIONER OF TRANSPORTATION OF THE STATE OF NEW JERSEY:

STATE OF New Jersey

COUNTY OF Union

I Gerard L. Burdi

(NAME)

I AM President OF THE

(TITLE)

FIRM OF Union Paving & Construction Co., Inc.,

THE BIDDER SUBMITTING THIS PROPOSAL.

THE BIDDER HEREBY AGREES TO CONSTRUCT AND COMPLETE THIS PROJECT IN EVERY DETAIL AND AT THE PRICES PER UNIT OF MEASURE DELINEATED IN THE ATTACHED EBS FILE IN THE FOLDER DESIGNATED "SCHEDULE OF ITEMS":

DP NUM 13130 BIDDER 03955

PAGE

GENERATED 05-21-13 REVISED 06-10-13

++	L		
LINE ITEM DESCRIPTION	QUANTITY UNIT	'	AMOUNT
		DOLLARS CT	
++	+	+	

SECTION 0001 ROADWAY

0001	PERFORMANCE BOND AND PAYMENT		DOLL	335,000.00	335,000.00
0004	PROGRESS SCHEDULE 153003P	LUMP	SUM	10,000.00	10,000.00
0005	PROGRESS SCHEDULE UPDATE	12.00	U	575.00	6,900.00
	TRAINEES 153012P	5,500.00	HOUR	0.01	55.00
0007	MOBILIZATION 154003P	LUMP	SUM	8,000,000.00	8,000,000.00
	CONSTRUCTION LAYOUT	1.00	DOLL	610,000.00	610,000.00
	MONUMENT 157006M	100.00	U	500.00	50,000.00
	MONUMENT BOX 157009M	100.00	U	700.00	70,000.00
	BREAKAWAY BARRICADE 159003M	300.00	U	100.00	30,000.00
	DRUM 159006M	600.00	U	100.00	60,000.00
	TRAFFIC CONE 159009M	100.00	U	25.00	2,500.00
	CONSTRUCTION SIGNS 159012M	5,000.00	SF	18.00	90,000.00
	CONSTRUCTION IDENTIFICATION 159015M	SIGN, 4' X 6.00		800.00	4,800.00

Check: 9E55C54A

Amendment Count: 2

DP NUM 13130

PAGE

BIDDER 03955

GENERATED 05-21-13 REVISED 06-10-13

+	+				
LINE	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	Truoma
				DOLLARS CT	DOLLARS CT
0035	CONSTRUCTION BARRIER CURB 159021P	2,000.00	LF	40.00	80,000.00
0036	FLASHING ARROW BOARD, 2' X 4'	8.00	U	1,000.00	8,000.00
•	FLASHING ARROW BOARD, 4' X 8	4.00	U	1,500.00	6,000.00
0038	PORTABLE VARIABLE MESSAGE SIG	3N 4.00	U	14,000.00	56,000.00
0039	TEMPORARY CRASH CUSHION, INER	RTIAL BARRI	ER		
 	159042M +	1.00	U	5,000.00	5,000.00
0040	TEMPORARY CRASH CUSHION, INER SYSTEM, 14 MODULES 159054M	RTIAL BARRI		6,000.00	6,000.00
10041	; +			· 	
	24" WIDE 159063M	1.00		12,500.00	12,500.00
0042	TEMPORARY CRASH CUSHION, QUAI	OGUARD 7 BA	YS X		
+	24" WIDE 159075M	1.00	U	15,000.00	15,000.00
0043	TRAFFIC CONTROL TRUCK WITH MC	OUNTED CRAS	н		
 	CUSHION 159108M	4.00	υ	25,000.00	100,000.00
0044	REMOVABLE BLACK LINE MASKING	TAPE, 6" 5,000.00	LF	1.25	6,250.00
0045	TEMPORARY PAVEMENT MARKING TA 159123M	APE, 6" 5,000.00	LF	1.00	5,000.00
0046	TEMPORARY TRAFFIC STRIPES, 4'	200,000.00	LF	0.22	44,000.00
•	TEMPORARY TRAFFIC STRIPES, 6'	20,000.00	LF	0.24	4,800.00

DP NUM 13130 BIDDER 03955

PAGE

GENERATED 05-21-13 REVISED 06-10-13

,					
LINE	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
			 	DOLLARS CT	DOLLARS CT
0048	TEMPORARY PAVEMENT MARKINGS	10,000.00	SF	1.25	12,500.00
0049	TEMPORARY PAVEMENT MARKERS	2,000.00	U	2.00	4,000.00
•	HMA PATCH 159138M	300.00	T	115.00	34,500.00
0051	TRAFFIC DIRECTOR, FLAGGER	2,000.00	HOUR	65.00	130,000.00
0052	FUEL PRICE ADJUSTMENT	1.00	DOLL	155,000.00	155,000.00
	ASPHALT PRICE ADJUSTMENT	1.00	DOLL	365,000.00	365,000.00
0054	FINAL CLEANUP 161003P	LUMP	SUM	5,000.00	5,000.00
0055	VIBRATION MONITORING	LUMP	SUM	50,000.00	50,000.00
0056	CLEARING SITE	LUMP	SUM	100,000.00	100,000.00
0057	MONITORING WELL 201018M	4.00	U	1,800.00	7,200.00
3	SEALING OF MONITORING WELLS	4.00	U	575.00	2,300.00
•	RESET MONITORING WELL BOX 201020M	4.00	U	200.00	800.00
0060	STRIPPING 202003P	1.00	ACRE	4,000.00	4,000.00
0061	EXCAVATION, TEST PIT	500.00	CY	225.00	112,500.00
0062	EXCAVATION, UNCLASSIFIED	202,882.00	СУ	1.65	334,755.30
					•

DP NUM 13130 BIDDER 03955

PAGE

GENERATED 05-21-13 REVISED 06-10-13

		1			
LINE	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
	 			DOLLARS CT	DOLLARS CT
0063	EXCAVATION, REGULATED MATERIA		CY	20.00	20,000.00
	EXCAVATION, ACID PRODUCING SO		CY	1.00	1,000.00
•	REMOVAL OF PAVEMENT	18,334.00	SY	18.00	330,012.00
•	DISPOSAL OF REGULATED MATERIA	AL 500.00	T	52.00	26,000.00
0067	SOIL SAMPLING AND ANALYSES, I 202030M	REGULATED 25.00	U	900.00	22,500.00
0068	SOIL SAMPLING AND ANALYSES, A SOIL 202033M	ACID PRODUC	ĺ	1.00	50.00
	ACID PRODUCING SOIL REMEDIAT:	ION 1,000.00	SY	0.01	10.00
0070	DISPOSAL OF ACID PRODUCING SO	0IL 1,000.00	T	0.01	10.00
0071	I-13 SOIL AGGREGATE 203018P	1,016.00	CY	7.00	7,112.00
0073	DENSE-GRADED AGGREGATE BASE (THICK 302036P	COURSE, 6"	SY	5.00	857,980.00
 0074 	DENSE-GRADED AGGREGATE BASE (THICK 302048P	COURSE, 12	j	10.00	1,637,760.00
0075	COARSE AGGREGATE, SIZE NO. 57	7 15,000.00	СУ	0.01	150.00
0076	HMA MILLING, 3" OR LESS	1,000.00	SY	10.00	10,000.00
	POLYMERIZED JOINT ADHESIVE	10,000.00	LF	0.50	5,000.00
				,	•

DP NUM 13130 BIDDER 03955

PAGE

GENERATED 05-21-13 REVISED 06-10-13

LINE	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TNUOMA
+	1 		 	DOLLARS CT	DOLLARS CT
0078	TACK COAT 401030M	72,071.00	GAL	0.01	720.71
0079	PRIME COAT 401036M	24,024.00	GAL	- 0.01	240.24
0080	HOT MIX ASPHALT 9.5 M 64 SURI 401042M	FACE COURSE	,	78.00	1,107,834.00
0081	HOT MIX ASPHALT 9.5 M 76 SURI 401048M	FACE COURSI		82.00	1,611,628.00
0082	HOT MIX ASPHALT 12.5 M 64 SUI 401054M	RFACE COURS 6,405.00		92.00	589,260.00
0083	HOT MIX ASPHALT 12.5 M 64 INT COURSE 401072M	33,856.00	Т	74.00	2,505,344.00
0	HOT MIX ASPHALT 19 M 64 BASE	COURSE 19,188.00	Т	81.00	1,554,228.00
0085	HOT MIX ASPHALT 25 M 64 BASE	COURSE 135,406.00	T	67.00	9,072,202.00
0086	CORE SAMPLES, HOT MIX ASPHALT	r 800.00	U	100.00	80,000.00
0087	TEMPORARY COFFERDAM	LUMP	SUM	750,000.00	750,000.00
0088	FURNISHING EQUIPMENT FOR DRIV	VING PILES LUMP	SUM	500,000.00	500,000.00
0089	COMPOSITE PILE, INCH DIAMPILE, 13 INCH DIAMETER 511012M	METER COMPO	İ		545,800.00
0090	FIBERGLASS REINFORCED PLASTIC	LUMBER 1,289.00	CF	175.00	225,575.00
0091	15" REINFORCED CONCRETE PIPE 601194P	, CLASS V 7,985.00	LF	50.00	399,250.00
	•		7	•	

Check: 9E55C54A

Amendment Count: 2

DP NUM 13130 BIDDER 03955

PAGE

GENERATED 05-21-13 REVISED 06-10-13

+	+			L	
LINE	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
+				DOLLARS CT	' '
0092	18" REINFORCED CONCRETE PIPE, 601196P	CLASS V 3,894.00	LF	50.00	
0093	24" REINFORCED CONCRETE PIPE,	CLASS V 1,225.00	LF	65.00	79,625.00
0094	30" REINFORCED CONCRETE PIPE, 601204P	CLASS V 944.00	LF	78.00	73,632.00
0095	36" REINFORCED CONCRETE PIPE, 601206P	CLASS V 709.00	LF	110.00	77,990.00
0096	14" X 23" REINFORCED CONCRETE PIPE, CLSS HE - IV 601630P	E ELLIPTICA 910.00		60.00	54,600.00
0097	19" X 30" REINFORCED CONCRETE PIPE, CLSS HE - IV 601632P	E ELLIPTICA 1,181.00		75.00	88,575.00
0098	22" X 34" REINFORCED CONCRETE PIPE, CLSS HE - IV 601634P	E ELLIPTICA 829.00		85.00	70,465.00
0099	24" X 38" REINFORCED CONCRETE PIPE, CLSS HE - IV 601636P	E ELLIPTICA 535.00		115.00	61,525.00
0100	27" X 42" REINFORCED CONCRETE PIPE, CLSS HE - IV 601638P	E ELLIPTICA 554.00		135.00	74,790.00
	16" DUCTILE IRON PIPE 601680M	193.00	LF	125.00	24,125.00
	18" DUCTILE IRON PIPE 601681M	2,076.00	LF	150.00	311,400.00
:	24" DUCTILE IRON PIPE 601682M	3,583.00	LF	160.00	573,280.00
	30" DUCTILE IRON PIPE	5,269.00	LF	165.00	869,385.00
			- 1	·	

DP NUM 13130 BIDDER 03955

PAGE

GENERATED 05-21-13 REVISED 06-10-13

LINE	ITEM DESCRIPTION	QUANTITY UNIT	UNIT PRICE	AMOUNT
ļ +	! 		DOLLARS CT	DOLLARS CT
	14" DUCTILE IRON PIPE 601685M	8,400.00 LF	85.00	714,000.00
:	36" DUCTILE IRON PIPE 601741M	6,807.00 LF	215.00	1,463,505.00
0109	42" DUCTILE IRON PIPE 601742M	2,581.00 LF	285.00	735,585.00
0110	48" DUCTILE IRON PIPE 601743M	5,448.00 LF	450.00	2,451,600.00
0111	PIPE BEDDING 601760P	2,800.00 CY	35.00	98,000.00
0112	CONCRETE HEADWALL	5.00 CY	650.00	3,250.00
0	INLET, TYPE A 602009M	52.00 U	3,500.00	182,000.00
0114	INLET, TYPE B 602012M	404.00 U	5,000.00	2,020,000.00
0115	INLET, TYPE DOUBLE B	7.00 U	6,500.00	45,500.00
0116	INLET, TYPE E 602018M	44.00 U	5,300.00	233,200.00
0117	INLET, TYPE B-1 602024M	3.00 U	5,500.00	16,500.00
0118	INLET, TYPE B-2 602027M	7.00 U	6,000.00	42,000.00
0119	INLET, TYPE E-1 602036M	3.00 ປ	7,500.00	22,500.00
0120	MANHOLE, 4' DIAMETER 602054M	70.00 ປ	5,000.00	350,000.00
	MANHOLE, 5' DIAMETER 602057M	60.00 U	6,500.00	390,000.00

DP NUM 13130 BIDDER 03955

PAGE

GENERATED 05-21-13 REVISED 06-10-13

+		+		+	
LINE	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
				DOLLARS CT	DOLLARS CT
0122	MANHOLE, 8' DIAMETER 602058M	2.00	U	20,000.00	40,000.00
0123	MANHOLE, 6' DIAMETER 602060M	45.00	U	10,000.00	450,000.00
0124	MANHOLE, 7' DIAMETER 602095M	23.00	U	15,000.00	345,000.00
0125	INLET CONVERTED TO MANHOLE	3.00	U	2,500.00	7,500.00
0126	RESET EXISTING CASTING	50.00	U	325.00	16,250.00
0127	SET INLET TYPE B, CASTING	27.00	U	1,300.00	35,100.00
0103	RECONSTRUCTED INLET, TYPE B, CASTING 602153M	USING NEW	U	2,500.00	7,500.00
0129	RECONSTRUCTED MANHOLE, USING CASTING 602180M	EXISTING 2.00	U	1,800.00	3,600.00
0130	STORMWATER PUMPING STATION (LOCATED @	20TH	+ 	
	AVENUE	LUMP	SUM	4,400,000.00	4,400,000.00
0131	STORMWATER PUMPING STATION (AVENUE)				
+	602219P +	LUMP	SUM	4,400,000.00 +	4,400,000.00
0132	STORMWATER PUMPING STATION (ISLAND AVENUE) 602219P		SUM	4,400,000.00	4,400,000.00
0133	STORMWATER PUMPING STATION (LOCATED @	L	+	
	STREET 602219P	LUMP	SUM	4,400,000.00	4,400,000.00

DP NUM 13130 BIDDER 03955

PAGE

10

GENERATED 05-21-13 REVISED 06-10-13

	1				
LINE	TTEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
	.	 		DOLLARS CT	DOLLARS CT
0134	STORMWATER PUMPING STATION (LOCATED @			
-	602219P	LUMP	SUM	4,400,000.00	4,400,000.00
0135	JUNCTION CHAMBER	11.00	U	20,000.00	220,000.00
0136	MANUFACTURED TREATMENT DEVICE	E 33.00	U	100,000.00	3,300,000.00
0137	24" TIDE CONTROL CHECK VALVE	, INLINE 15.00	U	7,500.00	112,500.00
0138	30" TIDE CONTROL CHECK VALVE 602293M	, INLINE 10.00	U	8,500.00	85,000.00
0139	36" TIDE CONTROL CHECK VALVE 602294M	, INLINE 6.00	U	9,500.00	57,000.00
0	RIPRAP STONE CHANNEL PROTECT:	ION, 12" TH	HICK		
ļ	603036P	19.00	SY	100.00	1,900.00
0141	TEMPORARY CHAIN-LINK FENCE, 8	8' HIGH 2,000.00	LF	8.50	17,000.00
0142	CONCRETE SIDEWALK, 4" THICK	14,721.00	SY	42.00	618,282.00
0143	HOT MIX ASPHALT DRIVEWAY, 1 :	1/2" THICK 248.00	SY	17.00	4,216.00
0144	HOT MIX ASPHALT DRIVEWAY, 6"	THICK 502.00	SY	50.00	25,100.00
0145	CONCRETE DRIVEWAY, 6" THICK	2,706.00	SY	49.00	132,594.00
	CONCRETE ISLAND, 4" THICK	252.00	SY	42.00	10,584.00
•	DETECTABLE WARNING SURFACE	412.00	SY	200.00	82,400.00
					-т

DP NUM 13130 BIDDER 03955

PAGE

GENERATED 05-21-13 REVISED 06-10-13

LINE	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TRUOMA	_
				DOLLARS CT	DOLLARS CT	-
0148	IMPRINTED CROSSWALK	472.00	SY	230.00	108,560.00	_
0149	9" X 16" CONCRETE VERTICAL CU	JRB 102,183.00	LF	15.00	1,532,745.00	_
0150	NONVEGETATIVE SURFACE, POROUS ASPHALT, 6" THICK 608005P	3,875.00	SY	32.00	124,000.00	
 0151 	NONVEGETATIVE SURFACE, POROUS AGGREGATE, 2" THICK 608017P	S RESIN BOU	ĺ	40.00	20,000.00	•
0152	BEAM GUIDE RAIL 609003M	6,045.00	LF	14.50	87,652.50	•
0153	BEAM GUIDE RAIL, DUAL-FACED	28.00	LF	28.00	784.00	
0154	RUB RAIL 609021M	2,082.00	LF	5.00	10,410.00	_
0155	FLARED GUIDE RAIL TERMINAL 609024M	9.00	U	3,500.00	31,500.00	-
0156	TELESCOPING GUIDE RAIL END TE	ERMINAL 3.00	U	5,500.00	16,500.00	
0157	BEAM GUIDE RAIL ANCHORAGE 609039M	11.00	Ū	750.00	8,250.00	-
0158	REMOVAL OF BEAM GUIDE RAIL 609075M	5,621.00	LF	0.60	3,372.60	-
0159	TRAFFIC STRIPES, LONG LIFE, 1	EPOXY RESIN		0.25	30,996.00	_
0160	TRAFFIC MARKINGS, THERMOPLASS		SF	2.00	42,496.00	_
0161	RPM, MONO-DIRECTIONAL, WHITE	LENS				

900.00 U

25.00

Check: 9E55C54A Amendment Count: 2

610012M

DP NUM 13130 BIDDER 03955

PAGE

12

GENERATED	05-21-13
REVISED	06-10-13

+	L		L	<u> </u>	
LINE	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
	, ,	 		DOLLARS CT	DOLLARS CT
0162	RPM, MONO-DIRECTIONAL, AMBER	LENS 800.00	U	25.00	20,000.00
0163	RPM, BI-DIRECTIONAL, AMBER LI	ENS 50.00	U	25.00	1,250.00
0164	REMOVAL OF RPM 610024M	1,750.00	U	25.00	43,750.00
0165	FLEXIBLE DELINEATOR, GROUND N	MOUNTED 1,000.00	U	25.00	25,000.00
0166	REMOVAL OF TRAFFIC STRIPES	160,000.00	LF	0.50	80,000.00
0167	REMOVAL OF TRAFFIC MARKINGS	10,000.00	SF	1.50	15,000.00
0	REGULATORY AND WARNING SIGN	5,200.00	SF	25.00	130,000.00
0169	GUIDE SIGN, TYPE GA, STEEL "U SUPPORTS 612006P	U" POST 486.00	SF	23.00	11,178.00
0170	GUIDE SIGN PANEL, TYPE GO	832.00	SF	50.00	41,600.00
0171	GUIDE SIGN PANEL, TYPE GOX 612018P	332.00	SF	50.00	16,600.00
1	RELOCATE SIGN 612021M	50.00	U	125.00	6,250.00
•	4" DUCTILE IRON WATER PIPE, (CLASS 52 250.00	LF	60.00	15,000.00
:	6" DUCTILE IRON WATER PIPE, (LF	62.00	
•	8" DUCTILE IRON WATER PIPE, (LF		197,470.00
•				,	

Check: 9E55C54A

Amendment Count: 2

DP NUM 13130 BIDDER 03955

PAGE 13

GENERATED 05-21-13 REVISED 06-10-13

+		. +	. – – – -	.		+
LINE	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	
				DOLLARS CT	DOLLARS CT	
0177	12" DUCTILE IRON WATER PIPE,	CLASS 52 4,941.00	LF	72.00	355,752.00	
0178	WATER SERVICE CONNECTION 651243M	221.00	U	850.00	187,850.00	 -
	FIRE HYDRANT	10.00	U	2,300.00	23,000.00	
0180	RELOCATE FIRE HYDRANT	10.00	U .	2,300.00	23,000.00	
0181	RESET FIRE HYDRANT	10.00	U	2,000.00	20,000.00	
0182	RESET WATER VALVE BOX	200.00	U	100.00	20,000.00	
0	GATE VALVES AND BOXES 651270M	40.00	U	150.00	6,000.00	
0184	BUTTERFLY VALVES AND BOXES 651273M	20.00	Ū	100.00	2,000.00	
0185	2" BLOWOFF VALVE 651277M	5.00	U	1,350.00	6,750.00	
0186	4" POLYVINYL CHLORIDE WATER 651293P	PIPE 20.00	LF	165.00	3,300.00	
•	6" POLYVINYL CHLORIDE WATER	PIPE 140.00	LF	150.00	21,000.00	
	8" POLYVINYL CHLORIDE WATER		LF	115.00	26,450.00	- -
•	14" DUCTILE IRON SEWER PIPE	700.00	LF	132.00	92,400.00	 -
0190	10" POLYVINYL CHLORIDE SEWER	PIPE			17 000 00	

256.00 LF

Check: 9E55C54A Amendment Count: 2

|0191|8" POLYVINYL CHLORIDE SEWER PIPE

652235P

DP NUM 13130 BIDDER 03955

PAGE 14

GENERATED 05-21-13 REVISED 06-10-13

	4	1			
LINE	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TRUOMA
		<u> </u>		DOLLARS CT	DOLLARS CT
	SANITARY SEWER SERVICE CONNEC	CTION 247.00	U	1,200.00	296,400.00
0193	SANITARY SEWER BY-PASS PUMPIN		SUM	25,000.00	25,000.00
0194	SANITARY SEWER CLEANOUT 652419M	100.00	U	30.00	3,000.00
0195	MANHOLE, SANITARY SEWER	27.00	U	6,500.00	175,500.00
0196	RESET MANHOLE, SANITARY SEWER	R, USING			
	652432M	100.00	U	300.00	30,000.00
0197	12" SANITARY SEWER MAIN 652466P	1,434.00	LF	100.00	143,400.00
0	10" SANITARY FORCE MAIN 652469P	1,434.00	LF	100.00	143,400.00
0199	MANHOLE, SANITARY SEWER TYPE	A 1.00	U	25,000.00	25,000.00
0200	ELECTRICAL UTILITY RELOCATION ELECTRICAL UTILITY RELOCATION 654007P		SUM	750,000.00	750,000.00
•	2" RIGID METALLIC CONDUIT	127.00	LF	30.00	3,810.00
0202	3" RIGID METALLIC CONDUIT	1,319.00	LF	50.00	65,950.00
	18" X 36" JUNCTION BOX 701102M	16.00	U	2,500.00	40,000.00
0204	FOUNDATION, TYPE SFT	7.00	U	3,500.00	24,500.00
0205	FOUNDATION, TYPE P-MC	3.00	U	5,000.00	15,000.00
	•			,	•

DP NUM 13130 BIDDER 03955

PAGE

15

GENERATED 05-21-13 REVISED 06-10-13

LINE	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TANOMA
+	 +	 	 	DOLLARS CT	DOLLARS CT
0206	FOUNDATION, TYPE SPF 701135M	4.00	U	2,500.00	10,000.00
0207	FOUNDATION, TYPE STF	6.00	ָט	6,500.00	39,000.00
0208	FOUNDATION, TYPE SFK 701144M	1.00	ט	4,000.00	4,000.00
0209	METER CABINET, TYPE TL	3.00	U	3,000.00	9,000.00
0210	GROUND WIRE, NO. 8 AWG 701192P	1,424.00	LF	2.00	2,848.00
0211	MULTIPLE LIGHTING WIRE, NO. 8	3 AWG 1,478.00	LF	2.25	3,325.50
	SERVICE WIRE, NO. 6 AWG 701213P	376.00	LF	4.50	1,692.00
0213	CONTROLLER, 8 PHASE 702009M	4.00	ט	15,000.00	60,000.00
0214	TRAFFIC SIGNAL STANDARD, ALUM	MUNIM 8.00	υ	2,500.00	20,000.00
0215	TRAFFIC SIGNAL STANDARD, STEE	EL 6.00	υ	8,000.00	48,000.00
0216	PEDESTRIAN SIGNAL STANDARD 702018M	4.00	U	2,000.00	8,000.00
0217	TRAFFIC SIGNAL MAST ARM, ALUM	MINUM 4.00	ט	2,500.00	10,000.00
0218	TRAFFIC SIGNAL MAST ARM, STEI 702024M	EL 6.00	U	6,500.00	j
0219	TRAFFIC SIGNAL CABLE, 2 CONDU		LF	2.50	1
•	TRAFFIC SIGNAL CABLE, 5 CONDU	JCTOR 2,975.00	LF	3.00	8,925.00
T-(155)	T				

DP NUM 13130 BIDDER 03955

PAGE

GENERATED 05-21-13 REVISED 06-10-13

+		 	L		L
LINE	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
	·	 	 	DOLLARS CT	DOLLARS CT
0221	TRAFFIC SIGNAL CABLE, 10 CONI	OUCTOR 4,386.00	LF	3.25	14,254.50
0222	TRAFFIC SIGNAL HEAD	29.00	U	1,100.00	31,900.00
0223	PEDESTRIAN SIGNAL HEAD	18.00	U	1,100.00	19,800.00
0224	PUSH BUTTON 702042M	8.00	U	400.00	3,200.00
0225	TEMPORARY TRAFFIC SIGNAL SYST	rem, LOCAT	ION		
	NO LOCATION NO. 1	LUMP	SUM	250,000.00	250,000.00
0226	CONTROLLER TURN-ON	3.00	U	5,000.00	15,000.00
0	OPTICAL EMERGENCY PRE-EMPTION	N SYSTEM LUMP	SUM	25,000.00	25,000.00
0228	LIGHTING MAST ARM ALUMINUM	2.00	U	1,000.00	2,000.00
0229	LIGHTING MAST ARM STEEL 703015M	3.00	U	2,500.00	7,500.00
0230	LUMINAIRE 703018M	5.00	U	750.00	3,750.00
:	ITS CONDUIT, TYPE A	26,076.00	LF	12.50	325,950.00
0232	JUNCTION BOX ITS TYPE A 704003M	5.00	U	4,000.00	20,000.00
0233	JUNCTION BOX ITS TYPE B	13.00	U	4,000.00	52,000.00
0234	ADAPTIVE IMAGE DETECTOR, CTSS	10.00	U	7,500.00	75,000.00
T				, 	

DP NUM 13130 BIDDER 03955

PAGE 17

GENERATED 05-21-13 REVISED 06-10-13

+	+			+		
LINE	ITEM DESCRIPTION	QUANTITY	UNIT	•	CE	•
				DOLLARS	CT	•
0261	MISCELLANEOUS CONCRETE 903006M	500.00	CY	40.		20,000.00
	TOTAL SECTION 0001 ROADWAY					78,266,915.35

SECTION 0002 CONSTRUCTION ENGINEERING

+			+
0008 FIELD OFFICE TYPE E SET UP 155015M	1.00 U	100,000.00	100,000.00
0009 FIELD OFFICE TYPE E MAINTENANG	CE 24.00 MO	5,500.00	132,000.00
0010 MATERIALS FIELD LABORATORY SET	1.00 U	35,000.00	35,000.00
0011 MATERIALS FIELD LABORATORY MAI	INTENANCE 24.00 MO	3,500.00	84,000.00
0012 NUCLEAR DENSITY GAUGE 156015M	1.00 U	7,000.00	7,000.00
TOTAL SECTION 0002 CONSTRUCTION ENGINEERING			358,000.00

SECTION 0003 NON - PARTICIPATING (ROADWAY)

	<u> </u>			
0002	OWNER'S AND CONTRACTOR'S	PROTECTIVE		
	LIABILITY INSURANCE			
1	152004P	1.00 DOLL	80,000.00	80,000.00
+	+		+ - +	+

DP NUM 13130 BIDDER 03955

PAGE 18

GENERATED 05-21-13 REVISED 06-10-13

5.00 57,615.00

4,800.00

12.00

		L L	.	<u> </u>	-
LINE	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
				DOLLARS CT	DOLLARS CT
, ,	POLLUTION LIABILITY INSURANCE		DOLL	40,000.00	40,000.00
0101	CLEANING EXISTING PIPE, 12" 7	TO 24" DIAN 3,085.00		•	37,020.00
0102	CLEANING EXISTING PIPE, OVER DIAMETER	24" TO 48'	1		
<u> </u>	601672M	3,071.00	LF	15.00	46,065.00
0173	CUSTOM SIGN 612032P	256.00	SF	25.00	6,400.00
0235	SELECTIVE THINNING 801006M	500.00	SY	3.00	1,500.00
0247	MOWING 810003M	4.00	ACRE	400.00	1,600.00
0	TREE MAINTENANCE 811140P	LUMP	SUM	0.01	0.01
	TOTAL SECTION 0003 NON - PARTICIPATING (ROADWAY))			212,585.01
	SECTION 0004 EROSION CONTROL				+
0016	CAUTION FENCE 158003M	165.00	LF	9.00	1,485.00

11,523.00 LF

400.00 U

0018 HAYBALE

|158015M

Check: 9E55C54A Amendment Count: 2

|0017|HEAVY DUTY SILT FENCE, ORANGE

DP NUM 13130 BIDDER 03955

PAGE

GENERATED	05-21-13
REVISED	06-10-13

+		.	.	+	
LINE	ITEM DESCRIPTION	QUANTITY	TINU	UNIT PRICE	AMOUNT
				DOLLARS CT	DOLLARS CT
0019	HAYBALE CHECK DAM WITH TEMPOR	RARY STONE	r 		
	OUTLET 158018M	33.00	LF	40.00	1,320.00
0020	INLET FILTER TYPE 2, 2' X 4'	730.00	U	90.00	65,700.00
0021	FLOATING TURBIDITY BARRIER, 1	TYPE 3 190.00	LF	65.00	12,350.00
0022	DEWATERING BASIN	4.00	U	3,500.00	14,000.00
0023	SEDIMENT CONTROL BAG	10,000.00	SF	1.50	15,000.00
0024	CONSTRUCTION DRIVEWAY, WOOD N	MATS 1,000.00	SY	22.00	22,000.00
0	CONSTRUCTION DRIVEWAY	500.00	T	40.00	20,000.00
0026	CONCRETE WASHOUT SYSTEM	LUMP	SUM	75,000.00	75,000.00
0027	OIL-WATER SEPARATOR	4.00	U	1,500.00	6,000.00
0028	OIL ONLY EMERGENCY SPILL KIT,	, TYPE 1 4.00	U	1,000.00	4,000.00
	EROSION CONTROL SEDIMENT REMO	OVAL 1,500.00	CY	4.00	6,000.00
0072	GEOTEXTILE, ROADWAY STABILIZA 203041P	ATION 417,272.00	SY	0.01	4,172.72
0242	FERTILIZING AND SEEDING, TYPE	E F 1,055.00	SY	0.50	527.50
	,			,	



DP NUM 13130 BIDDER 03955

PAGE 20

GENERATED 05-21-13 REVISED 06-10-13

LINE ITEM DESCRIPTION	QUANTITY UNIT	UNIT PRICE	†TRUOMA
		DOLLARS CT	• •
TOTAL SECTION 0004 EROSION CONTROL		+	309,970.22

SECTION 0005 GENERAL LANDSCAPE

	.			L	
0236	TREE REMOVAL, OVER 6" TO 12"	DIAMETER 25.00	U	375.00	9,375.00
0237	TREE REMOVAL, OVER 12" TO 18	" DIAMETER 15.00	U	550.00	8,250.00
0238	PREPARATION OF EXISTING SOIL	1,000.00	SY	2.00	2,000.00
0239	TOPSOILING, 4" THICK	7,032.00	SY	3.00	21,096.00
0240	TURF REPAIR STRIP	1,000.00	LF	3.00	3,000.00
0241	FERTILIZING AND SEEDING, TYP	E A-3 7,032.00	SY	0.50	3,516.00
0243	WILDFLOWER SEEDING	1,500.00	SY	0.50	750.00
0244	STRAW MULCHING 809003M	7,032.00	SY	0.60	4,219.20
0245	STONE MULCHING 809009M	52,880.00	SY	6.50	343,720.00
0246	WOOD MULCHING 809018M	5,740.00	SY	5.00	28,700.00
0259	PLANT ESTABLISHMENT PERIOD	LUMP	SUM	12,000.00	12,000.00
	•			•	

Check: 9E55C54A Amend

Amendment Count: 2

DP NUM 13130 BIDDER 03955

PAGE 21

GENERATED 05-21-13 REVISED 06-10-13

LINE TEM DESCRIPT	rion	QUANTITY	UNIT		AMOUNT
				DOLLARS CT	•
TOTAL SECTION 0005 GENERAL LANDS	SCAPE				436,626.20

SECTION 0006 LATIN LANDSCAPE

	L	L	
0248	SMALL DECIDUOUS TREE, 2-2 1/2" CALIPER, B&B 811024M 72.00 U		16,200.00
0249	SMALL DECIDUOUS TREE, 1 1/4-1 1/2" CALIPER,		
ļ +	811027M	165.00	1,650.00
0	SMALL DECIDUOUS TREE, 8-10' HIGH, B&B 811032M 171.00 U	200.00	34,200.00
0251	EVERGREEN TREE, 7-8' HIGH B&B 811037M 12.00 U	200.00	2,400.00
0252	EVERGREEN TREE, 6-7' HIGH, B&B 811039M 7.00 U	175.00	1,225.00
	DECIDUOUS SHRUB, 3-4' HIGH, B&B 811057M 10.00 U	50.00	500.00
0254	DECIDUOUS SHRUB, 30-36" HIGH, B&B 811061M 68.00 U	50.00	3,400.00
0255	DECIDUOUS SHRUB, 18-24" HIGH, #3 CONTAINER 811063M 314.00 U	40.00	12,560.00
0256	EVERGREEN SHRUB, 18-24" HIGH, #3 CONTAINER 811078M 34.00 U	40.00	1,360.00
0257	GROUND COVER OR VINE, 2" PLUG 811108M 21.00 U	5.00	105.00
1	PERENNIAL, #1 CONTAINER 811111M 41,429.00 U	15.00	621,435.00
	•	· 	

DP NUM 13130 BIDDER 03955

PAGE 22

GENERATED 05-21-13 REVISED 06-10-13

LINE ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
			DOLLARS CT	• •
TOTAL SECTION 0006 LATIN LANDSCAPE	++			695,035.00

SECTION 0007 OVERHEAD SIGN SUPPORT STRUCTURE NO. 1

0262	CLEARING SITE, STRUCTURE () CLEARING SITE, STRUCTURE NO. 1		,
	201009P LUMP SU	UM 14,000.00	14,000.00
0263	EXCAVATION, UNCLASSIFIED 115.00 CY	Y 75.00	8,625.00
0	TEMPORARY SHEETING 501003P 870.00 SF	F 0.01	8.70
0265	REINFORCEMENT STEEL 1,600.00 LE	В 1.50	2,400.00
0266	REINFORCEMENT STEEL, EPOXY-COATED 504006P 550.00 LE	B 1.50	825.00
0267	CONCRETE FOOTING 504015P 22.00 CY	Y 800.00	17,600.00
0268	OVERHEAD SIGN SUPPORT, STRUCTURE NO OVERHEAD SIGN SUPPORT, STRUCTURE NO.1 512012M	150,000.00	150,000.00
0269	2" RIGID METALLIC CONDUIT 701015P 80.00 LF	F 30.00	2,400.00
0270	FOUNDATION, TYPE MCF 701126M	2,500.00	2,500.00
0271	METER CABINET, TYPE L 701183M 1.00 U	3,500.00	3,500.00
-	·	-	•



DP NUM 13130 BIDDER 03955

PAGE

GENERATED 05-21-13 REVISED 06-10-13

+	+	+	<u> </u>	+	
LINE	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TRUOMA
				DOLLARS CT	DOLLARS CT
0272	GROUND WIRE, NO. 8 AWG 701192P	120.00	LF	3.00	360.00
0273	SERVICE WIRE, NO. 6 AWG 701213P	120.00	LF	8.00	960.00
0274	SIGN LIGHTING, STRUCTURE NO. LIGHTING, STRUCTURE NO. 1 703021M	SIGN	SUM	30,000.00	30,000.00
+	TOTAL SECTION 0007 OVERHEAD SIGN SUPPORT STRUCTO	yre no. 1		+	233,178.70

SECTION 0008 OVERHEAD SIGN SUPPORT STRUCTURE NO. 2

	-		
0275	CLEARING SITE, STRUCTURE () CLEARING SITE, STRUCTURE NO. 2 201009P LUMP SUM	14,000.00	14,000.00
0276	EXCAVATION, UNCLASSIFIED 202009P 115.00 CY	75.00	8,625.00
0277	TEMPORARY SHEETING 870.00 SF	0.01	8.70
0278	REINFORCEMENT STEEL 1,600.00 LB	1.50	2,400.00
0279	REINFORCEMENT STEEL, EPOXY-COATED 504006P 550.00 LB	1.50	825.00
0280	CONCRETE FOOTING 504015P 22.00 CY	800.00	17,600.00
0281	OVERHEAD SIGN SUPPORT, STRUCTURE NO OVERHEAD SIGN SUPPORT, STRUCTURE NO. 2 512012M 1.00 U	150,000.00	150,000.00
_	-	· ·	•

DP NUM 13130 BIDDER 03955

PAGE 24

GENERATED 05-21-13 REVISED 06-10-13

والمستناب					L
LINE	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
				DOLLARS CT	DOLLARS CT
	2" RIGID METALLIC CONDUIT 701015P	35.00	LF	30.00	1,050.00
0283	FOUNDATION, TYPE MCF	1.00	U	2,500.00	2,500.00
0284	METER CABINET, TYPE L	1.00	U	3,500.00	3,500.00
0285	GROUND WIRE, NO. 8 AWG	70.00	LF	3.00	210.00
0286	SERVICE WIRE, NO. 6 AWG	70.00	LF	8.00	560.00
0287	SIGN LIGHTING, STRUCTURE NO. LIGHTING, STRUCTURE NO. 2	SIGN		 	
	703021M	LUMP	SUM	30,000.00	30,000.00
	TOTAL SECTION 0008 OVERHEAD SIGN SUPPORT STRUCTU	JRE NO. 2			231,278.70

DP NUM 13130 BIDDER 03955

PAGE 25

GENERATED 05-21-13 REVISED 06-10-13

TOTAL PRICE

80,743,589.18

(THIS SPACE FOR DEPARTMENT USE ONLY)

EXTENSIONS AND ADDITIONS OF ITEMS IN THIS PROPOSAL HAVE BEEN VERIFIED. ERRORS, IF ANY, HAVE BEEN IDENTIFIED AND CORRECTED IN ACCORDANCE WITH DEPARTMENT SPECIFICATIONS.

EXAMINER

BUREAU OF CONSTRUCTION SERVICES, NJDOT

NO.

THE TOTAL PRICE, AS CORRECTLY DETERMINED FROM THE ESTIMATED QUANTITIES LISTED AND THE PRICES PER UNIT OF MEASURE BID RESPECTIVELY THEREFORE, WILL BE CONSIDERED TO BE THE AMOUNT BID FOR THE PROJECT, AND THE CORRECT TOTAL PRICE WILL CONTROL IN AWARDING THE CONTRACT AS PROVIDED IN SECTION 103 OF THE SPECIFICATIONS.

DP NUM 13130 BIDDER 03955

PAGE

GENERATED 05-21-13 REVISED 06-10-13



DC-16 (1/2013)

State of New Jersey
Department of Transportation
DISCLOSURE OF INVESTMENT ACTIVITIES IN IRAN

Bidx Proposal Number: 13130 Bidder/Vendor: NJDOT

Pursuant to Public Law 2012, c. 25, any person or entity that submits a bid or proposal or otherwise proposes to enter into or renew a contract must complete the certification below to attest, under penalty of perjury, that the person or entity, or one of the person or entity's parents, subsidiaries, or affiliates, is not identified on a list created and maintained by the Department of the Treasury as a person or entity engaging in investment activities in Iran. If the Department of Treasury finds a person or entity to be in violation of the principles which are the subject of this law, the Department of Treasury shall take action as may be appropriate and provided by law, rule or contract, including but not limited to, imposing sanctions, seeking compliance, recovering damages, declaring the party in default and seeking debarment or suspension of the person or entity.

I certify, pursuant to Public Law 2012, c. 25, that the person or entity limed above for which I am authorized to bid:

is not providing goods or services of \$20,000,000 or more in the energy sector of Iran, including a person or entity that provides oil or liquefied natural gas tankers, or products used to construct or maintain pipelines used to transport oil or liquefied natural gas, for the energy sector of Iran,

AND

- is not a financial institution that extends \$20,000,000 or more in credit to another person or entity, for 45 days or more, if that person or entity will use the credit to provide goods or services in the energy sector in Iran.

In the event that a person or entity is unable to make the above certification because it or one of its parents, subsidiaries, or affiliates has engaged in the above-referenced activities, a detailed, accurate and precise description of the activities must be provided below to the Department of Transportation under penalty of perjury.

DP NUM 13130 BIDDER 03955

PAGE

27

GENERATED 05-21-13 REVISED 06-10-13



No, I do not need to provide further information related to investment activities in Iran.

PLEASE PROVIDE FURTHER INFORMATION RELATED TO INVESTMENT ACTIVITIES IN IRAN

You must provide a detailed, accurate and precise description of the activities of the bidding person/entity, or one of its parents, subsidiaries or affiliates, engaging in the investment activities in Iran outlined above by completing the boxes below.

EACH BOX WILL PROMPT YOU TO PROVIDE INFORMATION RELATIVE TO THE ABOVE QUESTIONS. PLEASE PROVIDE THOROUGH ANSWERS TO EACH QUESTION.

Name: N/A Relationship to Bidder/Vendor: N/A Description of Activities: N/A Duration of Engagement: N/A Anticipated Cessation Date: N/A Bidder/Vendor Contact Name: N/A Contact Phone Number: N/A

Certification: I, being duly sworn upon my oath, hereby represent and state that the foregoing information and any attachments thereto to the best of my ledge are true and complete. I attest that I am authorized to execute this certification on behalf of the above-referenced person or entity. I acknowledge that the State of New Jersey is relying on the information contained herein and thereby acknowledge that I am under a continuing obligation from the date of this certification through the completion of contracts with the State to notify the State in writing of any changes to the answers of information contained herein. I acknowledge that I am aware that it is a criminal offense to make a false statement or misrepresentation in this certification, and if I do so, I recognize that I am subject to criminal prosecution under the law and that it will also constitute a material breach of my agreements(s) with the State of New Jersey and that the State at its option may declare contract(s) resulting form this certification void and unenforceable.

Full Name (Print): Gerard L. Burdi

Title: President

Date: 06/13/13

Amendment Count: 2 Check: 9E55C54A

DP NUM 13130 BIDDER 03955

PAGE 28

GENERATED 05-21-13 REVISED 06-10-13



THE BIDDER HEREBY CERTIFIES TO THE BEST OF HIS KNOWLEDGE AND BELIEF AND UNDER PENALTY OF PERJURY UNDER THE LAWS OF THE UNITED STATES AND THE STATE OF NEW JERSEY,

I. AFFIRMATIVE ACTION

THAT AN AFFIRMATIVE ACTION PROGRAM OF EQUAL OPPORTUNITY, IN SUPPORT OF PL 1945, C 169, THE NEW JERSEY "LAW AGAINST DISCRIMINATION" AS SUPPLEMENTED AND AMENDED, AS WELL AS IN ACCORDANCE WITH EXECUTIVE ORDER NO. 11246 PROMULGATED BY THE PRESIDENT OF THE UNITED STATES, SEPTEMBER 24, 1965 AND EXECUTIVE ORDER NO. 11625, PROMULGATED BY THE PRESIDENT OF THE UNITED STATES, OCTOBER 13, 1971, HAS BEEN ADOPTED BY THIS ORGANIZATION TO ENSURE THAT APPLICANTS ARE EMPLOYED, EMPLOYEES ARE TREATED WITHOUT REGARD TO THEIR RACE, CREED, COLOR, NATIONAL ORIGIN, SEX OR AGE, AND THAT THE SELECTION AND UTILIZATION OF CONTRACTORS, SUBCONTRACTORS, CONSULTANTS, MATERIALS SUPPLIERS AND EQUIPMENT LESSORS SHALL BE DONE WITHOUT REGARD TO THEIR RACE, CREED, COLOR, NATIONAL ORIGIN, SEX OR AGE. SAID AFFIRMATIVE ACTION PROGRAM ADDRESSES BOTH THE INTERNAL RECRUITMENT, EMPLOYMENT AND UTILIZATION OF MINORITIES AND THE EXTERNAL RECRUITMENT POLICY REGARDING MINORITY CONTRACTORS, SUBCONTRACTORS, CONSULTANTS, MATERIALS SUPPLIERS AND EQUIPMENT LESSORS.

THE PERFORMANCE OF PREVIOUS CONTRACTS OR SUBCONTRACTS SUBJECT TO THE EQUAL OPPORTUNITY CLAUSE AND THE FILING OF REQUIRED REPORTS

THAT IF THE BIDDER HAS PARTICIPATED IN A PREVIOUS CONTRACT OR SUBCONTRACT SUBJECT TO THE EQUAL OPPORTUNITY CLAUSE, AS REQUIRED BY EXECUTIVE ORDERS 10925, 11114, OR 11246, ALL REPORTS DUE UNDER THE APPLICABLE FILING REQUIREMENTS HAVE BEEN FILED WITH THE JOINT REPORTING COMMITTEE, THE DIRECTOR OF THE OFFICE OF FEDERAL CONTRACT COMPLIANCE, A FEDERAL GOVERNMENT CONTRACTING OR ADMINISTERING AGENCY, OR THE FORMER PRESIDENT'S COMMITTEE ON EQUAL EMPLOYMENT OPPORTUNITY.

NOTE: THIS SECTION (II) IS REQUIRED BY THE EQUAL EMPLOYMENT OPPORTUNITY
---- REGULATIONS OF THE SECRETARY OF LABOR (41 CFR 60-1.7(B) (1)) FOR
FEDERALLY FUNDED PROJECTS, AND MUST BE CERTIFIED TO BY BIDDERS
ONLY IN CONNECTION WITH CONTRACTS AND SUBCONTRACTS WHICH ARE
SUBJECT TO THE EQUAL OPPORTUNITY CLAUSE. CONTRACTS AND
SUBCONTRACTS WHICH ARE EXEMPT FROM THE EQUAL OPPORTUNITY CLAUSE
ARE SET FORTH IN 41 CFR 60-1.5. (GENERALLY ONLY CONTRACTS OR
SUBCONTRACTS OF \$10,000 OR UNDER ARE EXEMPT).
CURRENTLY, STANDARD FORM 100 (EEO-1) IS FOR FHWA AND FRA FUNDED
PROJECTS AND STANDARD FORMS 100 (EEO-1) AND 257 ARE FOR UMTA

DP NUM 13130 BIDDER 03955

PAGE 29

GENERATED 05-21-13 REVISED 06-10-13

FUNDED PROJECTS AS REQUIRED BY EXECUTIVE ORDERS OR THEIR IMPLEMENTING REGULATIONS.

CONTRACTORS WHO HAVE PARTICIPATED IN A PREVIOUS CONTRACT OR SUBCONTRACT SUBJECT TO THE EXECUTIVE ORDERS AND HAVE NOT FILED THE REQUIRED REPORTS SHOULD NOTE THAT 41 CFR 60-1.7(B) (1) PREVENTS THE AWARD OF CONTRACTS UNLESS SUCH CONTRACTOR SUBMITS A REPORT COVERING THE DELINQUENT PERIOD OR SUCH OTHER PERIOD SPECIFIED BY THE PARTICIPATING FEDERAL AGENCY OR BY THE DIRECTOR, OFFICE OF FEDERAL CONTRACT COMPLIANCE, U.S. DEPARTMENT OF LABOR.

III. NON-COLLUSION AND WARRANTY CONCERNING SOLICITATION OF THE CONTRACT BY OTHERS

THAT THIS PROPOSAL HAS BEEN EXECUTED WITH FULL AUTHORITY TO DO SO; THAT SAID BIDDER HAS NOT, DIRECTLY OR INDIRECTLY, ENTERED INTO ANY AGREEMENT, PARTICIPATED IN ANY COLLUSION, OR OTHERWISE TAKEN ANY ACTION IN RESTRAINT OF FREE, COMPETITIVE BIDDING IN CONNECTION WITH THE ABOVE NAMED PROJECT; AND THAT ALL STATEMENTS CONTAINED IN SAID PROPOSAL AND IN THIS AFFIDAVIT ARE TRUE AND CORRECT, AND MADE WITH FULL KNOWLEDGE THAT THE STATE OF NEW JERSEY RELIES UPON THE TRUTH OF THE STATEMENTS CONTAINED IN SAID PROPOSAL AND IN THE STATEMENTS CONTAINED IN THIS AFFIDAVIT IN AWARDING THE CONTRACT FOR THE SAID PROJECT.

THE BIDDER WARRANTS THAT NO PERSON OR SELLING AGENCY HAS BEEN EMPLOYED OR RETAINED TO SOLICIT OR SECURE SUCH CONTRACT UPON AN AGREEMENT OR UNDERSTANDING FOR A COMMISSION, PERCENTAGE, BROKERAGE OR CONTINGENT FEE, EXCEPT BONA FIDE EMPLOYEES OR BONA FIDE ESTABLISHED COMMERCIAL OR SELLING AGENCIES MAINTAINED BY THE BIDDER. (N.J.S.A.52:34-15)

IV. CERTIFICATION FOR FEDERAL AID CONTRACTS

> THAT NO FEDERAL APPROPRIATED FUNDS HAVE BEEN PAID OR WILL BE PAID, BY OR ON BEHALF OF THE UNDERSIGNED, TO ANY PERSON FOR INFLUENCING OR ATTEMPTING TO INFLUENCE AN OFFICER OR EMPLOYEE OF ANY FEDERAL AGENCY, A MEMBER OF CONGRESS, AN OFFICER OR EMPLOYEE OF CONGRESS, OR AN EMPLOYEE OF A MEMBER OF CONGRESS IN CONNECTION WITH THE AWARDING OF ANY FEDERAL CONTRACT, THE MAKING OF ANY FEDERAL GRANT, THE MAKING OF ANY FEDERAL LOAN, THE ENTERING INTO OF ANY COOPERATIVE AGREEMENT, AND THE EXTENSION, CONTINUATION, RENEWAL, AMENDMENT, OR MODIFICATION OF ANY FEDERAL CONTRACT, GRANT, LOAN, OR COOPERATIVE AGREEMENT.

> THAT IF ANY FUNDS OTHER THAN FEDERAL APPROPRIATED FUNDS HAVE BEEN PAID OR WILL BE PAID TO ANY PERSON FOR INFLUENCING OR ATTEMPTING TO INFLUENCE

DP NUM 13130 BIDDER 03955

PAGE 30

GENERATED 05-21-13 REVISED 06-10-13

AN OFFICER OR EMPLOYEE OF ANY FEDERAL AGENCY, A MEMBER OF CONGRESS, AN OFFICER OR EMPLOYEE OF CONGRESS, OR AN EMPLOYEE OF A MEMBER OF CONGRESS IN CONNECTION WITH THIS FEDERAL CONTRACT, GRANT, LOAN, OR COOPERATIVE AGREEMENT, THE UNDERSIGNED SHALL COMPLETE AND SUBMIT STANDARD FORM-LLL, "DISCLOSURE FORM TO REPORT LOBBYING," IN ACCORDANCE WITH ITS INSTRUCTIONS.

THIS CERTIFICATION IS A MATERIAL REPRESENTATION OF FACT UPON WHICH RELIANCE WAS PLACED WHEN THIS TRANSACTION WAS MADE OR ENTERED INTO. SUBMISSION OF THIS CERTIFICATION IS A PREREQUISITE FOR MAKING OR ENTERING INTO THIS TRANSACTION IMPOSED BY SECTION 1352, TITLE 31, U.S. CODE. ANY PERSON WHO FAILS TO FILE THE REQUIRED CERTIFICATION SHALL BE SUBJECT TO A CIVIL PENALTY OF NOT LESS THAN \$10,000 AND NOT MORE THAN \$100,000 FOR EACH SUCH FAILURE.

THE PROSPECTIVE PARTICIPANT ALSO AGREES BY SUBMITTING HIS OR HER BID OR PROPOSAL THAT HE OR SHE SHALL REQUIRE THAT THE LANGUAGE OF THIS CERTIFICATION BE INCLUDED IN ALL LOWER TIER SUBCONTRACTS, WHICH EXCEED \$100,000 AND THAT ALL SUCH SUBRECIPIENTS SHALL CERTIFY AND DISCLOSE ACCORDINGLY.

V. THIS SECTION IS RESERVED.

DISADVANTAGED BUSINESS ENTERPRISE CERTIFICATION (DBE)

(REQUIRED FOR FHWA PROJECTS)

THAT HE SHALL MEET THE REQUIREMENTS OF THE DISADVANTAGED BUSINESS ENTERPRISES UTILIZATION ATTACHMENT IN ORDER TO ENSURE THAT DISADVANTAGED BUSINESS ENTERPRISES, AS DEFINED IN THAT ATTACHMENT, HAVE THE MAXIMUM OPPORTUNITY TO COMPETE FOR AND PERFORM SUBCONTRACTS.

VII. DEBARMENT (REQUIRED FOR FHWA PROJECTS)

THAT HE AND HIS PRINCIPALS:

ARE NOT PRESENTLY DEBARRED, SUSPENDED, PROPOSED FOR DEBARMENT, DECLARED INELIGIBLE, OR VOLUNTARILY EXCLUDED FROM COVERED TRANSACTIONS BY ANY FEDERAL, STATE, OR LOCAL GOVERNMENTAL ENTITY.

HAVE NOT WITHIN A THREE-YEAR PERIOD PRECEDING THIS PROPOSAL BEEN CONVICTED OF OR HAD A CIVIL JUDGEMENT RENDERED AGAINST THEM FOR COMMISSION OF FRAUD OR A CRIMINAL OFFENSE IN CONNECTION WITH OBTAINING, ATTEMPTING TO OBTAIN, OR PERFORMING A PUBLIC (FEDERAL, STATE OR LOCAL) TRANSACTION OR CONTRACT UNDER A PUBLIC TRANSACTION; VIOLATION OF FEDERAL OR STATE ANTITRUST STATUTES OR COMMISSION OF EMBEZZLEMENT, THEFT,

DP NUM 13130 BIDDER 03955

PAGE 31

GENERATED 05-21-13 REVISED 06-10-13

FORGERY, BRIBERY, FALSIFICATION OR DESTRUCTION OF RECORDS, MAKING FALSE STATEMENTS, OF RECEIVING STOLEN PROPERTY;

ARE NOT PRESENTLY INDICTED FOR OR OTHERWISE CRIMINALLY OR CIVILLY CHARGED BY A GOVERNMENTAL ENTITY (FEDERAL, STATE OR LOCAL) WITH COMMISSION OF ANY OF THE OFFENSES ENUMERATED IN THE ABOVE PARAGRAPH OF THIS CERTIFICATION; AND

HAVE NOT WITHIN A THREE-YEAR PERIOD PRECEDING THIS PROPOSAL HAD ONE OR MORE PUBLIC TRANSACTIONS (FEDERAL, STATE OR LOCAL) TERMINATED FOR CAUSE OR DEFAULT.

SHALL INSERT FORM FHWA 1273 IN EACH SUBCONTRACT AND SHALL REQUIRE ITS INCLUSION IN ANY LOWER TIER SUBCONTRACT, PURCHASE ORDER, OR TRANSACTION THAT MAY IN TURN BE MADE.

WHERE THE BIDDER IS UNABLE TO CERTIFY TO ANY OF THE STATEMENTS IN THIS CERTIFICATION, THE BIDDER SHALL EXPLAIN BELOW.

VIII. THIS SECTION IS DELETED FROM FEDERALLY FUNDED PROJECTS.

DP NUM 13130

PAGE 32

DP NUM 13130 BIDDER 03955

GENERATED 05-21-13 REVISED 06-10-13

BIDDER'S CERTIFICATION

I HEREBY CERTIFY THAT I HAVE FULL AUTHORITY TO EXECUTE THIS PROPOSAL ON BEHALF OF THE BIDDER NAMED ON PAGE ONE OF THIS PROPOSAL. IN EXECUTING THIS PROPOSAL I HEREBY DECLARE THAT THE BIDDER HAS CAREFULLY EXAMINED THE ADVERTISEMENT, SPECIFICATIONS, PLANS, PROPOSAL AND ALL OTHER CONTRACT DOCUMENTS REQUIRED FOR THE CONSTRUCTION OF THE PROJECT NAMED ABOVE.

BY SUBMITTING THIS BID, THE BIDDER CERTIFIES AND REPRESENTS THAT ITS BID, UPDATED FINANCIAL STATEMENT(S), CERTIFICATIONS AS TO BUSINESS REGISTRATION/PWCR, AND PROPOSAL BOND HAVE BEEN DIGITALLY SIGNED BY AN AUTHORIZED REPRESENTATIVE OF THE BIDDER.